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Question No. 1

'A' U SRIE § Tl & Far gl 1 Bl goa F o€, 97 918 AW Hqar §, W 172 Frelr Tow
¥ 9, 96 B @ a1 3R Fq3ar 1 39, 9§ @ R0 T S W ) 3WA aead 7 B foww @
ToleTl E Thar ar?

A) 49iggH B) 3}
C) &f&or D) 9§

'A' started from a place. After walking for 1 km, he turns to the left, then walking for 1/2 km, he
again turns left. Now, he is going in the eastward direction. Towards which direction did he
originally start?

A) West B) North
C) South D) East
Answer Key : A Your Response : A (Correct)

Question No. 2
frfaf@a & ¥ fer of ol & ufoet & Sier ST awar 87
A) HfA® IR IR 3R B) Aol 3R arT 3R
C) Al 3R FHAFR D) @rer 3R §a

In which of the following two ways can resistances be combined?

A) Line and across B) Serial and across
C) Series and parallel D) Straight and between
Answer Key : C Your Response : C (Correct)

Question No. 3

AT @ i @ Bt 3l A 7 82




A) 5/8, 7112, 3/4, 13/16 B) 7/12, 13/16, 3/4, 5/8

C) 5/8, 7112, 13/16, 3/4 D) 13/16, 3/4, 5/8, 7/12

Which of the following fractions are in descending order?

A) 5/8,7M12,3/4,13/16 B) 7/12,13/16, 3/4, 5/8
C) 5/8,7/12, 13/16, 3/4 D) 13/16, 3/4, 5/8, 7/12
Answer Key : D Your Response : D (Correct)

Question No. 4

HEHHOT EIT T % SHROT ehd 8 STl gl
A) @rell Hem3it 1 3uteyfa B) 3:THT Solerciall & 3ufefa
C) 3mardayeiaar 3R degar D) 3T dTeldie IR FaUATH

Transition metals are often paramagnetic owing to-

A) Presence of vacant orbitals B) Presence of unpaired electrons
C) Malleability and ductility D) High melting point and boiling point
Answer Key : B Your Response : B (Correct)

Question No. 5

v AR Fesmsr 7 IfE 'CAB' & 'WUV' faGr Siier &, 3T e # 'DEAF & 3 for
SIAAT?

A) XWUY B) UYXZ

C) Uwyv D) XYUz

If 'CAB' is coded as 'WUV', how is 'DEAF' coded in that language?

A) XWUY B) UYXZ
C) Uuwyv D) XYUZ
Answer Key : D Your Response : D (Correct)

Question No. 6



Tgd TegHsd W Amfaf@a # & e & # 3mafaa fre s 97
A) HeATST B) dleT

C) TEacsRels D) TR

<

In which of the following countries was the first Common Wealth Games held?

A) Canada B) China
C) Switzerland D) Singapore
Answer Key : A Your Response : B (Wrong)

Question No. 7

3 HHia & T &Y, o Aeaerad SR & de % wew @
FETFH:T q?r it =T &l
BRf, TP,
A) B) |
’|,=" ‘:“ I) \
A
0 D)

Choose the figure that best represents the relationship among the
classes given below.
Triangle, Quadrilateral, Square

A) B)



0 D)

Answer Key : B Your Response : B (Correct)

Question No. 8

ShepT(Zika) 9RIRE & Ugal &%, ZikaVac T 3TATaor SarT T s |
A) crEdT |ierdT, STaTe B) STIehisT, AR
C) TEeeH WAL, ST D) $Rd diceh, R

ZikaVac is the first vaccine for Zika virus unveiled by-

A) Daiichi Sankyo, Japan B) Biocon, India
C) Astellas Pharma, Japan D) Bharat Biotech, India
Answer Key : D Your Response : B (Wrong)

Question No. 9

30 W A, T FYat & d1g e s Ru 1w §1 3o faswst @ 9o, S aifdes s @ gaifts
39geFT gl

1) Tefr 3T aelr &

2) T T I §



3) wefr 9= &g &l

fase:
l. T& Tl 92§
Il. F& 3 g7 gl

lll. FE IR greir 78 B
A) wad fassy | 3R 1 3uged gl B) @l forsey 3ugera
C) el foisahy Il 3ugeFd & D) hael fasehy | 3R 11l 3ugFd gl

In this question, three statements are given followed by three conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) All gases are waters.

2) Some stones are gases.
3) All stones are liquids.

Conclusions:

|. Some waters are stones.
Il. Some gases are liquids.
lll. No stone is water.

A) Only conclusions | and |l follow B) All conclusions follow
C) Only conclusion 1l follows D) Only conclusions | and Il follow
Answer Key : A Your Response : A (Correct)

Question No. 10

g # Al RS TG Sl @ §7?




A) e B) dAsASS
C)sﬂ;ﬁﬁ D) et

What is the harmful chemical present in tobacco?

A) Nicotine B) Cyanide
C) Insulin D) Caffeine
Answer Key : A Your Response : A (Correct)

Question No. 11

frelt ueret 7 IMIF Tiea T &7
A) 9SS FT Gelcd X UTAT HT Goled B) eIy I Uelca/dTel $T Telcd
C) Uerd & Uelcd + Ul I Helcd D) 9=l &l geica/Ierd &l Helcd

What is relative density of a substance?

A) Density of substance x density of water B) Density of substance / density of water
C) Density of substance + density of water D) Density of water / density of substance
Answer Key : B Your Response : B (Correct)

Question No. 12

e 31 (1 1)
el =l et 175 2 3

A) B)

3/14 5/12

0 D)



A) B)
3/14 512
0) D)
T2 0
Answer Key : D Your Response : D (Correct)

Question No. 13

Ifg Rl T & s G & Q-Aers 32 §, o sEar A P

A) 198 B) 192

C) 196 D) 202

If two-thirds of one quarter of a number is 32, then find the number.

A) 198 B) 192
C) 196 D) 202
Answer Key : B Your Response : B (Correct)

Question No. 14



$eT 379 3 & o7 AT T 37T L §?
A) @ Fr AR B) aAftdss
C) wifrsad D) 3l eg (S aid)

Which of these organs is NOT vestigial?

A) Ear Muscles B) Brain
C) Appendix D) Wisdom Teeth
Answer Key : B Your Response : B (Correct)

Question No. 15

360 #Hrex oy T Y@y 45 FRellHAC/EeT T 9 & T @ &1 140 HeX o JoT 1 Ig fohcer
AT H UR FE?

A) 45 A%3 B) 40 %3
C) 48 @&s D) 42 &g

A train 360 m long is running at a speed of 45 km/h. In what time will it pass a bridge of 140 m

long?
A) 45 seconds B) 40 seconds
C) 48 seconds D) 42 seconds
Answer Key : B Your Response : B (Correct)

Question No. 16

ar AR, U & THT HAM: AW P A Q 3 MWW Q & P iy 3N Tololl Y& WA I P IR Q &
o Rl foig R AR & 91, 9 FA: 54 3R 24 AeE # 3UE-3T I T O TG A
§1 Q ¥ P o I T S o 319N AT R W 7 g Ar?

A) 36 AT B) 72 fA«c
C) 60 f&ec D) 48 f&ec

Two friends start at the same time from cities P and Q towards cities Q and P respectively. After
meeting at some point between P and Q, they reach their destinations in 54 and 24 minutes
respectively. In what time did the one who moved from Q to P complete his journey?



A) 36 minutes B) 72 minutes

C) 60 minutes D) 48 minutes

Answer Key : C Your Response : C (Correct)

Question No. 17
teErg frIfaf@d 7 @ fFe o8y & e o 872
A) e B) &

C) d&dl D) 3

On which of the following riverbanks is Hyderabad located?

A) Narmada B) Musi
C) Chambal D) Ganga
Answer Key : B Your Response : B (Correct)

Question No. 18

fAefaf@d # & fFw &F o 2019 7 NRI & faT 'NRISTT-3@ET @ar Tere Hr gfmar &
T &7

A) SBI &% B) HDFC &=
C) ufFaw d% D) IDBI &%

Which of the following banks has launched the ‘NRI-Insta-Online’ account-opening process for
NRIs in 2019?

A) SBI Bank B) HDFC Bank
C) Axis Bank D) IDBI Bank
Answer Key : D Your Response : B (Wrong)

Question No. 19

ELISA Refaf@d & & a1 87

A) arRRE S AIDS FT FRUT ST & B) & g & dgel AIDS &T UdT Tell AT

C) AIDS & 9ar oeTet & fov U g D) #ad ggel cafFd forasr AIDS & #cg &3




ELISA refers to which of the following?

A) The virus which causes AIDS B) The centre in which AIDS was detected
first
C) Atestto detect AIDS D) The very first person who died of AIDS
Answer Key : C Your Response : C (Correct)

Question No. 20

et 9139 P, Q 3R R, 3re@r-3rerT vw &F @ 10, 15 AR 20 €6 F o) FHd §1 P W w7
¥9l, Q # gag 8 w1 IR R & g 9 §9 Wer 1| EF FW THI T QU W W, AT R
TH IR H FHad 3 G AT 3G TF FH T Tohal ¢ 3R 396 ¢ 37 1 9¢ & AT 5§ @
qSer 87?

A) 12:00 s IO B) 12:30 s Ay

C) 12:12 sof I D) 1:00 &Iof Orf

Three pipes P, Q and R can fill a tank in 10, 15 and 20 hours separately. P was opened at 7
AM, Q at 8 AM and R at 9 AM. At what time was the tank completely filled if R can work for only
3 hours at a stretch and needs a 1 hour break?

A) 12:00 PM B) 12:30 PM
C) 12:12 PM D) 1:00 PM
Answer Key : B Your Response : B (Correct)

Question No. 21

X+a x+3a S Frnt T ey
- Al X =l A1 Z 1 =snlis U
x+b x+4a+b ¥ * s

A) B)



0 D)

X+a Xx+3a

If = , find the value of 'x'.
x+b x+a+b
A) B)
a-b a+b
0) D)
Answer Key : D Your Response : D (Correct)

Question No. 22

fArfaf@a & ¥ fhg 3@rar & o 3reEr sreRT WAVBT a1 /AURT & g (=) H
fafea gar &2

A)  3iTereIsHIoT B) &fd fawumde

C) Rs#ersr D) Ushel TaTUTdel

In which of the following reactions are two different atoms or groups of atoms (ions)

exchanged?
A) Oxidation B) Double displacement
C) Reduction D) Single displacement

Answer Key : B Your Response : B (Correct)



Question No. 23

T T TF 90 & PR A § AR 306 IR Th AF T fFar I & SR ART Hir
fear 3R S Farr: 10 #r AR 25 #Aex §1 dFR A9T F v fear 10 Hiew 3k fods
Fur§ 15 #ex @1 g, Ren$ anfq & fow 20% faRed e od gu, 50 deg & AT &
fow smaraes Ferar @ AET S UET HfST]

A) 3783.26 Fex2 B) 4714.43 #Hiex?2

C) 3772.14 #He? D) 2451.40 #ex?2

A tent is in the form a cylinder and is surmounted by a cone; radius and height of the cylindrical
portion are 10 m and 25 m respectively. For the conical part, radius is 10 m and slant height is
15 m. Calculate the amount of canvas required to build the tent allowing 20% extra for folding,
stitching etc.

A) 3783.26 m? B) 471443 m?
C) 377214 m? D) 2451.40 m?
Answer Key : D Your Response : D (Correct)

Question No. 24

fATRT SRy A SO & 96 3K s U v we 1 3ewW &

35 SR Tge, Fewr, B, e, sae, welor, Ty 3R 3o T i, o T @ e At
1% 3R F &% 3N AR FA T W 75 FRAA W IS §1 7 W 3cR fRwr Hr 3R 7qg o
gU &1 B oF ¥ A1 ol W A4S ¥ B 3R g F g S o sufd §1 Agwr R sreom
FHRT Uh-gEY & S1F 91T H 9o &1 W o1 o gl 3R o1 & 1 & 8 s9rer & a1 &1 o
Fofr o1 VA e Frel T W et Focr &1 7 o Feer 3R 7 & 3N IR e F FAl W IS
g1 ydior 3R A & T Hgel T & FFT ¢ TG o F a8 AN (S A 3R g Fer §,
3R feeter weft ofr wlor & Sarer F TET o B

Tfaf@a 7 ¥ Fia & S g9 ORI | 96 §7?
A) 3T 3R I B) #eer 3N ydie

C) 37%uT 3T fearer D)Wrasﬂttrgﬂ




Read the following information carefully and answer the question given below.

Eight friends—Rahul, Mahesh, Priya, Dinesh, Prasad, Praveen, Ramu and Aruna sit in a row
having chairs numbered one to eight in ascending order from left to right. They all are facing
north direction.

Priya sits on the chair numbered six. There are exactly two persons between Priya and Rahul.
Mahesh and Aruna always sit adjacent to each other. Ramu sits adjacent to neither Rahul nor
Priya. Prasad never sits on a chair having an odd number on it. Neither Mahesh nor Aruna sits
on chair numbered four. There is only one person between Praveen and Mahesh. Prasad sits
on the right (not an immediate right) of Dinesh, and Dinesh never sits adjacent to Praveen.

Which of the following pairs sits at the two extreme ends?

A) Aruna and Ramu B) Mahesh and Praveen
C) Aruna and Dinesh D) Prasad and Rahul
Answer Key : A Your Response : A (Correct)

Question No. 25

29 ¥l H TH Ufed H IS 9% BR ¥ Wled TE W IR Tgd I IRT H a5 oR @
HIed T W &1 9 i 39F ST frasr o5 &7

A) 4 B) 5

C) 3 D) 6

Arjun is seventeenth from the left end of a row of 29 boys and Rahul is seventeenth from the
right end in the same row. How many boys are there between them in the row?

A) 4 B) 5
C) 3 D) 6
Answer Key : C Your Response : C (Correct)

Question No. 26
e fereT &7 pH 39T T Aol W TR = &

A) gEgifaTd 3T B) 3fFAISS 3T

C) g83s8 3T D) gEsiferad 3




The pH of a solution depends on its concentration.

A) Hydronium ions B) Oxide ions
C) Hydride ions D) Hydroxyl ions
Answer Key : A Your Response : A (Correct)

Question No. 27

ar st @Y I F AT IR IR F eI 5: 1 g1 AR IeThr Y FT OB 96 &, aF Ierehr
3y AT A

A) 6, 10 B) 24, 4

C) 6, 16 D) 8, 12

The sum and difference of the ages of two brothers are in the ratio 5 : 1. If the product of their
ages is 96, then what are their ages?

A) 6,10 B) 24,4
C) 6,16 D) 8,12
Answer Key : D Your Response : D (Correct)

Question No. 28

fFeafaf@d Aol # ¥ euRya R @ a ffewl

PTVX, AEGI, (..), WACE, HLNP
A) KNQT B) LPRT

C) KPQS D) HKLO

Find the missing group of alphabets in the following series.

PTVX, AEGI, (...), WACE, HLNP
A) KNQT B) LPRT
C) KPQS D) HKLO

Answer Key : B Your Response : B (Correct)



Question No. 29

FUIT A T F A H gaifts gafeyad adr §1
A) 3 B) &a
C) 3= D) TTsaT

The arrangement of particles is most ordered in the case of-

A) Solids B) Liquids
C) Gas D) Plasma
Answer Key : A Your Response : A (Correct)

Question No. 30
TRV qfew wfasorT’ e Welee #T adfas = a1?
A) CID B) RAW

C) CRPF D) CBI

Which organization's original name was 'Special Police Establishment'?

A) CID B) RAW
C) CRPF D) CBI
Answer Key : D Your Response : A (Wrong)

Question No. 31

IfE '+ F AJeT ' §, X F AQAT ' F, X F Adew '+ 3R+ H AdeS X g, o Re aw
gl F ¥ e AT/ §2

A) 30 +5+4-10x5

22 B) 30 -5+4 +10x5

62

C) 30+5-4=+10x5 = 58 D) 30 x5 -4+ 10 + 5 = 41

If '+' means -, - means '+, X' means "+ and '+' means X' , then which of the given equations is

correct?

A) 30+5+4-10x5=22 B) 30-5+4+10x5 =62



C) 30+5-4+10x5=58 D) 30x5-4+10+5=41

Answer Key : D Your Response : D (Correct)

Question No. 32

FTeT ¥ 7 F argHse 7 Alg ¥

A) &HET AABTFASS B) el SIS3iFdISS

C) @Ielr D) 3@dY H FeT HARRNFEES 3R FHed
STS3TTFATSS

Carbon exists in the atmosphere in the form of-

A) Carbon monoxide B) Carbon dioxide

C) Coal D) Carbon monoxide in traces and carbon
dioxide

Answer Key : D Your Response : D (Correct)

Question No. 33

I IF & SoH & GAT T A Y GF B qiAT 3G F R A 3 g i 37 20 AW g,
ar frar #r gaAeT 3y e AT

A) 40 a¥ B) 39 a¥
C) 30 ay D) 60 a¥

Father's age at the time of the birth of his son was the son's present age. If the son's age is 20
years, then find the father's present age.

A) 40 years B) 39 years
C) 30 years D) 60 years
Answer Key : A Your Response : A (Correct)

Question No. 34
'S Ba1gss’ Y&+ & AW HieT 87
A) SO AE® B) sfexr amedr

C) 3Tqel el 3MTSlIG D) si. qsig vHIG



Who is the author of the book 'India Divided'?

A) Jawaharlal Nehru B) Indira Gandhi
C) Abul Kalam Azad D) Dr. Rajendra Prasad
Answer Key : D Your Response : C (Wrong)

Question No. 35

%1000 & FT Hed arel U T&G A 5% FIfA W aer e § AR wed o F @ W v
T T HT GoA: 5% S T SN A §| A foheielm gifer o amst g3m?

A) 2.5% FT oA B) ©.2.5 #T gifer

C) 2% & gifel D) %.2 &7 oA

An article costing Rs.1000 is sold at 5% loss and another article purchased with the money got
was again sold at 5% gain. Was there a loss or gain and how much?

A) 2.5% gain B) Rs.2.5 loss
C) 2% loss D) Rs.2 gain
Answer Key : B Your Response : B (Correct)

Question No. 36

fow 1T Reedl 7 & 3T o
A) DEB B) NOL
C) HIF D) RTP

Find the ODD one out from the given options.

A) DEB B) NOL
C) HIF D) RTP
Answer Key : D Your Response : D (Correct)

Question No. 37

frfaf@a & @ #la & w$ afafa ¥ug F 9% Fea 7 8l 87



A) fawfeer afafa B) arfder @fafa
C) sofaT & sl D) =9MR WrAteHT afafa

Which of the following is/are the Standing Committees in each House of the Parliament?

A) Committee of Privileges B) Committee on Petitions
C) All of the options D) Business Advisory Committee
Answer Key : C Your Response : C (Correct)

Question No. 38
AR 3R T 97 T8 ¥ T W Aa A, S 27, 18, 15 AKX 12 @ qoiaar e §

A) 9720 B) 9700

C) 9710 D) 9730

Find the largest number of four digits that is exactly divisible by 27, 18, 15 and 12.

A) 9720 B) 9700
C) 9710 D) 9730
Answer Key : A Your Response : A (Correct)

Question No. 39

W ;7.2 - [3 + 0.5 of (3.1 - 2.3 x 1.02)]
A) 4.223 B) 4.233

C) 3.432 D) 3.823

Simplify: 7.2 - [3 + 0.5 of (3.1 - 2.3 x 1.02)]

A) 4.223 B) 4.233
C) 3.432 D) 3.823
Answer Key : D Your Response : D (Correct)

Question No. 40




30 e & U9 Y, Al AP H T FEd (7) F T W ™
A % T wEfead 39 2l

3| 5 | ¢
8 | 2 |10
5 | 4 | 3
A) B) 4
T
0 6 D)

11

Choose the alternative that best replaces the question mark(?) in the

given figure.
3 | 9| 4
8 ? | 10
5 | 4 | 3
A) B) 4
7
) 6 D)

11



Answer Key : C Your Response : C (Correct)

Question No. 41

UF O F A W, &&, FAR, fcher, 307 AR Rer sar 3gER 3R # AR A W @
gl

(i) FAR, 3E0T & &5 3T 40 AT Hr gfr | §l
(ii) 3T, FAR F ST F 60 HT F g W Bl
(i) fAferer 30T & aReH & 25 e Fr gfr W B

(iv) RoRer &g & 3ok 7 90 #HreX i gff W B

FAR & 1§ 3N S AfFT ¥ 30 3R g 7 Fa 57
A) 37807 B) forcier

C) fearer D) &

On a playing ground, Dev, Kumar, Nithish, Arun and Dinesh are standing as described below
facing the North.

(i) Kumar is 40 meters to the right of Arun

(ii) Dev is 60 meters to the South of Kumar.

(iii) Nithish is 25 meters to the West of Arun.

(iv) Dinesh is 90 meters to the North of Dev.

Who is to the north east of the person who is to the left of Kumar?

A) Arun B) Nithish
C) Dinesh D) Dev
Answer Key : C Your Response : C (Correct)

Question No. 42

AT EEA3T @, b, ¢ ¥ WHE & A.H.I(LCM) AT HfATI

A) abc B) a%b?c?



C) 1/3 abc D) a+b+c

Find the LCM of set of prime numbers a, b and c.

A) abc B) a%b*c?
C) (1/3) abc D) a+b+c
Answer Key : A Your Response : A (Correct)

Question No. 43
&8 s 3mdare’ & dwwE T §7

A) Y B) HIged T
C) ferrem D) ud

Who is the author of the Hindi play '"Adhe-Adhure?’

A) Prem Chand B) Mohan Rakesh
C) Nirala D) Pant
Answer Key : B Your Response : B (Correct)

Question No. 44

AT AR A quiiet 3 & ge FT <l I, AR K & I § 3 AOF &) AR ot A
EAE

A) 15 B) 9

C) 13 D) 11

Three times the first of three consecutive odd integers is 3 more than two times the third. Find
the third integer.

A) 15 B) 9
C) 13 D) 11
Answer Key : A Your Response : A (Correct)

Question No. 45



i el danfee s & & Usg GHA &, df 3T A I AT Fgl SIaTr 87
A) Taae B) Tecfad
C) fafaH| D) gAfas

If the two words of a scientific name are similar, the name is said to be-

A) Tautonym B) Antonym
C) Synonym D) Homonym
Answer Key : A Your Response : A (Correct)

Question No. 46
foT wal 3 ¥ fraed dRRe & aAnr 31w gidr 872
A) 3IHFFRG B) &«

C) el D) 3R

Which of the following fruits has high potassium content?

A) Guava B) Apple
C) Banana D) Pomegranate
Answer Key : C Your Response : C (Correct)

Question No. 47

3o 3R Rs B Fe7 it FaAw: 70 AR 60 et F T wHa §1 T H WY FH T IE
A & AR FO WA 91G, ST FHA D5 & 7l [T 7 A9 Fw w47 REAT A @ B

3151 A HIH Hd OIST AT?
A) 14 & s1g B) 10 f&sT a1

C) 7 f&=T a5 D) 8 fga a1g

Ajay and Vijay can do a piece of work in 70 and 60 days respectively. They start the work

together; and after sometime, Ajay leaves. Vijay finished the remaining work in 47 days. When

did Ajay quit the work?

A) After 14 days B) After 10 days



C) After 7 days D) After 8 days

Answer Key : C Your Response : C (Correct)

Question No. 48
frafof@a & @ fFe By ag & o aroe Bl oo & w9 F g 87
A) Erest B) ¥eTold ¥Iel
C) TSl 3reverorar D) 3ifostnr

Which of the following alloys contains mercury as one of its constituents?

A) Solder B) Stainless steel
C) Zinc amalgam D) Alnico
Answer Key : C Your Response : C (Correct)

Question No. 49

39 W H, A FYal & a1G T sy Qv aw g1 397 frst v 9o, s aifde w1 @ waifte
39 8l

Yo
1) 9 g 93 7 &

2) |3t 93 HsH §l

oSy
.. 3 95 ¥5F ¢
Il e |3% 93 €l

lll. 1 ¥SF AGA T T



A) Fae sy Il 39ged B B) de frshy Il 3ugerd Bl
C) el fshy | 3ugerd Bl D) @t ey 3o &

In this question, two statements are given followed by three conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) No soap is tree.
2) All trees are roads.

Conclusions:

I. Some trees are roads.
Il. All roads are trees.
lll. No road is soap.

A) Only conclusion Il follows B) Only conclusion Il follows
C) Only conclusion | follows D) All conclusions follow
Answer Key : C Your Response : C (Correct)

Question No. 50
SIS , 9 SI&T ST FAT Hgl AT 67
A) uaIT B) fAeaT
C) T D) &

How is the river Ganga called in Bangladesh?

A) Padma B) Mishmi
C) Kosi D) Ravi
Answer Key : A Your Response : A (Correct)

Question No. 51



fRefifeT U =e 1 aera = i = Ru Ty srIa<d

Ife T FEA A TUT .8000 §, A HEA BT Tl WH FAT 67

A) B)

£.40000 %.42000

O D)

%.36000 +.4.8000

Study the following pie chart and answer the question given
below it.

The following pie chart represents the expenditure on various items
and savings in a month for a family.

Housing
Food

Savings I
Miscellaneous

Education

If savings in a month amount to Rs.8000, what is the total
expenditure forthe month?

A) R=.40000 B) Rs.42000

0 D)

Rs.36000 R=.45000



Answer Key : A Your Response : D (Wrong)

Question No. 52

& F U FER GanT g 7l
A) "I B) e
C) @elH (Stem cutting) D) w13«

Banana is propagated by-

A) Suckers B) Tillers
C) Stem cutting D) Crown
Answer Key : A Your Response : D (Wrong)

Question No. 53

& 939 Ue ¢l HF 12 fRee 3R 15 Rae & W @d &1 ' T 959 59 6 Ree # e
T GhaT &1 Tge arf gisul o 6 Aee & fov @er arar § 3R 395 95 der 9By o @
far Srar §1 & fraey wHw # @relr g Smeefi?

A) 57 fiete B) 48 fAec
C) 42 fAere D) 54 fAeie

Two pipes can fill a cistern in 12 minutes and 15 minutes. A third pipe can empty it in 6 minutes.
The first two are open for 6 minutes and after that the third pipe is also opened. In what time wiill
the cistern be emptied?

A) 57 minutes B) 48 minutes
C) 42 minutes D) 54 minutes
Answer Key : D Your Response : D (Correct)

Question No. 54

Fafdcd 3TUT S Fafded IR, e, g & §fer vfddde Fr sar & foav S By
eI 1 39T Rt fFar Srar §7?

A) 5 T Tefr B) ATSshIe 3T & gl ToldT &l
C) =ITSehid 3MET & TR0l & AT JoRal D) ATSshiA # 3T FfcIershe gial &




gl

Why is nichrome alloy used for making heating elements of electrical appliances such as
electric iron, toaster, etc.?

A) All the options B) Nichrome does not burn easily

C) Nichrome does not undergo oxidation D) Nichrome has high resistivity

easily
Answer Key : A Your Response : A (Correct)
Question No. 55

T HET AT i § e A 3T F § S F& AR B FAT B §
A) T B) 3legrEs
C) HHey eafel D) 3usex
Earthquake produces waves before the main shock waves which alert some
animals.
A) Echo B) Ultrasound
C) Normal sound D) Infrasound

Answer Key : D Your Response : B (Wrong)

Question No. 56

TEE 7 " TEE 8 A F A AT AT I AT FA TH AT
el

A) B)

2
7 7= 40 AT 7 T BSﬁ e

0 D)



9
745 T AT HEEIVECE L 88 e TT

The two hands of a clock will be together between 7 AM and 8 AM at:

A) B)
. — 2 4. o
40 minutes past 7 AM 38—1 minutes pagst 7 AM
0) D)
9
7:45 AM 38 17 minutespast7 AM
Answer Key : B Your Response : B (Correct)

Question No. 57

Ifg '+ F Adeld X' §, - F AdAS '+ §, X W Adod '+ HN '+ F Aderw X' 7, AL 9 = 5 +
4-4x2=72

A) -9 B) 2

C) -3 D) 3

If '+' means X', - means '+, X' means '+'and '+'means ' , then, 9 +5+4-4x2="7
A) -9 B) 2
C) -3 D) 3

Answer Key : A Your Response : A (Correct)



Question No. 58
AT [§eFsT #1 pH AT fFder aar 82
A) 7 B) 7 & %A
C) 3 D) 7 & 3=

What is the pH of basic solution?

A) 7 B) Lessthan7
C) 3 D) Greaterthan 7
Answer Key : D Your Response : D (Correct)

Question No. 59
Sefdegd F4T A, P @ o RAega Fo F gRafcla g &2

A) Th o TR H FIET g S UG B) Gl i qEafAE Felr
Fall

C) Uieir &l 3SHRT Fair D) 9T & Yarg &I €afed Sl

In a hydro-power plant, which energy is converted into electrical energy?

A) The potential energy of water stored in a B) The chemical energy of water

tall reservoir
C) The heat energy of water D) The sound energy of water flow
Answer Key : A Your Response : A (Correct)

Question No. 60

gfe FdT T & geT Fr 3ifA# 31 4 &1 ar 39% °e T 3ifae 3% Fhder gem?

A) 8 B) 4

C) 6 D) 2 a7 8

The square of a number ends in 4. Then its cube ends in-
A) 8 B) 4

C) 6 D) 2or8



Answer Key : D Your Response : D (Correct)

Question No. 61

Ife 12 JEIr 1 FT Ao 10 gt & 0FT Je7 F SR g1, T & gforra ard fifsre

A) 10% B) 18%

C) 25% D) 20%

If cost price of 12 books is equal to the selling price of 10 books, then what is the profit percent?

A) 10% B) 18%
C) 25% D) 20%
Answer Key : D Your Response : D (Correct)

Question No. 62

feafaf@d & ¥ @i @ 3o Shasee # Faa oF TR & o 3R Ber &ar 87

A) 33 B) hell

C) 31H&G D) 3R

Which of the following bears flowers and fruits only once in its lifetime?

A) Peach B) Banana
C) Guava D) Fig
Answer Key : B Your Response : A (Wrong)

Question No. 63

AR WU #7 3o 21 A, Peafaf@d # ¥ e wdfta §2

A) e &1 JARER B) 3cudTde & fgal T gam
C) SiaeT 3R SATFAITd TAIAT ST TIGTOT D) aiffies ATHGT T YSHT el T TIAIl

With which of the following is Article 21 A of Indian Constitution associated?
A) Right to education B) Protection of interests of minorities

C) Protection of life and personal liberty D) Freedom to manage religious affairs



Answer Key : A Your Response : A (Correct)

Question No. 64
afger AR # v 3gEIT E
A) dES B) @adr
C) =Tl D) g

An example for a vector quantity is-

A) Length B) Momentum
C) Speed D) Distance
Answer Key : B Your Response : B (Correct)

Question No. 65

forely TS WEAT & UGSt Y WEAT I RS
A) 2 B) 1
C) 3 D) 0

Find the number of factors of any prime number.

A) 2 B) 1
C) 3 D) O
Answer Key: A Your Response : A (Correct)

Question No. 66

Afaf@d SR #F & § 96 3R S Ru a1 w2eT #r 3caw &I

o IPAT- U, V, W, X, Y, Z @& dfFd &7 3R o8 3= N, O, P, Q, R, S gulr dfea #
50 TR @ § F 9e e v afdear B 3R A WS ud ), o0 a8 B s we A
8 | N, 30 3 & 8 2% 3R &, S Theat &% 3R @S A= Y #r 3R 7§ Y ge &
XINYFITTAFIVEI ZUFIF TEINEINWF &F a$ 3w & P, U & 3
He P gU ¢ 3T O & &1 91% 3N &1 S, Q & §1F 3R I T | &l



AT Fq Fi9 S 3R R & T Jor &2
A) N B) P

C) O D) Q

Read the following information carefully and answer the question given below.

Six actors—U, V, W, X, Y and Z are standing in one row and six actress—N, O, P, Q, R, S are
standing in another row in such a way that each actress faces one actor, not necessarily in the
same order. N is to the immediate right of the actress who is facing Y the actor at the extreme
right. Only V is between X and Y. Z is to the immediate left of U and to the immediate right of W.
P is facing U and is to the immediate left of O. S is third to the left of Q.

Who among the following is standing between S and R?

A) N B) P
C) O D) Q
Answer Key : A Your Response : A (Correct)

Question No. 67

FieT AT e ol AT 7T Haer i Fafeast dor § qob :em?

GEhTr ; 3T8IT 32 SIYOT : ?
A) #HTST B) 3marsT

C) e D)

Which word will best complete the relationship given below?

Light : Blind :: Speech : ?
A) Language B) Voice

C) Tongue D) Dumb



Answer Key : D Your Response : D (Correct)

Question No. 68

TH WA A, T YA & dI¢ IR ey fu v §1 37 faswant &1 aga &8, S afees & @
s 39ged gl

heT:

A T BT & T 5o 4’

|. A & T 3T A, § AT YW HIH Agf FT Toha Al
Il. AT F FAATOT 7 1T IR a¥ <}

. ArafAAT & ar WA S TR H AAT T F v aRega 3uaor 3R Spega Aleg
sTar ol

IV. A7 S M F AT F61 F:55 st #w71 &F, w9 Agad 3R 7o FFeq AT B

A) Fae ey IV 3T g B) ae forsehy || 3ugad g

C) hdel foshy Il 3ugeFd & D) hder faishy | 3ugerd gl

In this question, a statement is given followed by four conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
Rome was not built in a day.

Conclusions:
I. The Romans were lazy, they could not work in time.



II. It took about twelve years to build Rome.

lll. The Romans did not have sophisticated equipment and infrastructure to build a city like
Rome.

IV. It took years of patience, hard work and determination to construct a city like Rome.

A) Only conclusion |V follows B) Only conclusion Il follows
C) Only conclusion Il follows D) Only conclusion | follows
Answer Key : A Your Response : A (Correct)

Question No. 69

faeafaf@a & & 5 2019 & wrda & T $Ra F Torgy g fFar am=r ar?
A) Fads T B) ®RI TeIIH

C) |9 FAR D) dsr g

Who among the following was appointed the Ambassador of India to Maldives in 2019?

A) Navtej Sarna B) Ruchi Ghanashyam
C) Sandeep Kumar D) Sunjay Sudhir
Answer Key : D Your Response : D (Correct)

Question No. 70

T &2 7 S| AFS HAT 87
A) g&ot B) <
C) e D) s

What is the Sl unit of wavelength?

A) Hertz B) Metre
C) Kilogram D) Second
Answer Key : B Your Response : B (Correct)

Question No. 71

TR J38 Feafaiad & & fre A9 & wdfta 2



A) g B) FFehaTall
C) alew D) 29e efa g

With which of the following sports is Tiger Woods associated?

A) Tennis B) Boxing
C) Golf D) Table tennis
Answer Key : C Your Response : C (Correct)

Question No. 72

e el aer A amgfed 25 géo ¥ 3R swh i & 4 e #1200 AT Hr @ A aw
el & H eafer T @R el THT weRm?

A) 5 d&s B) 4 @%s
C) 1 dshs D) 2 &%

The frequency of a sound wave is 25 Hz and its wavelength is 4 m. What is the time taken by
the sound wave to travel a distance of 200 m?

A) 5s B) 4s
C) 1s D) 2s
Answer Key : D Your Response : D (Correct)

Question No. 73

TF 9139, X & ol I ar g1 S 9IS T Ay Ao R & @ 26 e F sw wea
&1 e 9137 FI 31hd Th B IR H Fhdelr THAT FIM?

A) 54 THec B) 124 f@=c
C) 78 fac D) 104 fe

One pipe works three times as fast as another. The two pipes together can fill a tank in 26
minutes. By working alone, how long will the slower pipe take to fill the tank?

A) 54 minutes B) 124 minutes

C) 78 minutes D) 104 minutes



Answer Key : D Your Response : D (Correct)

Question No. 74

W & 43 § 3N g A g3 # g glewr g gl
A) A%CUS B) fheT
C) & D) 9

The prolongation of the backbone beyond the trunk of the body is called the-

A) Spine B) Fin
C) Wing D) Tail
Answer Key : D Your Response : D (Correct)

Question No. 75

'"dd O e &a 3ifedca 7 3T 41?

A) 1980 B) 1978

C) 1987 D) 1992

When did the term ‘Sustainable Development’ come into existence?

A) 1980 B) 1978
C) 1987 D) 1992
Answer Key : C Your Response : D (Wrong)

Question No. 76

Aoft A QT

1, 6, 15, 28, 45, (..
A) 56 B) 57

C) 63 D) 66




Complete the series.

1,6, 15, 28, 45, (...)

A) 56 B) 57
C) 63 D) 66
Answer Key : D Your Response : D (Correct)

Question No. 77

feafaf@d Jofr # euieyd e Aa Rl

81, 63, 49, 35, (...), 15
A) 25 B) 18

C) 24 D) 39

Find the missing number in the following series.

81, 63, 49, 35, (...), 15

A) 25 B) 18
C) 24 D) 39
Answer Key : A Your Response : A (Correct)

Question No. 78

6.25% dIf¥er sAreT T &7 A T.5000 T AR F 5 HIET 2017 ¥ 19 38T 2017 d&F FHT JTUROT
sg1ST A1d fifaw]

A) .64 B) %.80

C) %.48.50 D) .62.50

Find the Simple Interest on Rs.5000 at 6.25% per annum from 5th February 2017 to 19th April
2017.



A) Rs.64 B) Rs.80

C) Rs.48.50 D) Rs.62.50

Answer Key : D Your Response : D (Correct)

Question No. 79

THAIY] T FEIAN, WA F # g1 7l
INBGIEED B) Rerd wmet
C) Solaclel Fell33 D) Weclid Fd138
The mass of an atom resides in of the atom.
A) Nucleus B) Vacant space
C) Electron cloud D) Proton cloud
Answer Key : A Your Response : A (Correct)

Question No. 80
gl & 7 fFT o9 TR o AT $HA FrhA YF Har g2
A) 3fsem B) Tafdsa

C) TTEdTT D) 9aTe

Which state government has recently launched the Nirman Kusuma programme?

A) Odisha B) Sikkim
C) Rajasthan D) Punjab
Answer Key : A Your Response : C (Wrong)

Question No. 81

40 orET # ¥ 15 a5F &1 U 08T H, FET F 3iPr F AeI(mean) 75 § 3 st F 3w
3% 72 &1 O J=H & i 3w AT ATl

A) 82 B) 74

C) 76 D) 80




Out of 40 students, 15 are boys. In a test, the mean marks of the class is 75 and the average
marks of the girls is 72. What is the average marks of boys?

A) 82 B) 74
C) 76 D) 80
Answer Key : D Your Response : D (Correct)

Question No. 82

IfE (0.29 + 0.25 + 0.01)/0.005 = a% &, @ 'a' 1 ART AT AT
A) 500 B) 11000

C) 5000 D) 110

If (0.29 + 0.25 + 0.01)/0.005 = a%, then find the value of 'a".

A) 500 B) 11000
C) 5000 D) 110
Answer Key : B Your Response : B (Correct)

Question No. 83

BBAFCRATIRTAAY CCBF @ HAIMAFSRUI @ AL 3IRD, BIRAF @@ C
% Il # §1 A & |eT D Fr fe=r R §?

A) 3R B) 3 &

C) aféior g D) qd

LN

B is to the south west of A, C is to the east of B and south east of A, and D is to the north of C
in line with B and A. What is the direction of D with respect to A?

A) North B) North east
C) South east D) East
Answer Key : B Your Response : B (Correct)

Question No. 84

AT Aot & et & TERfAs o7 g &l




A) 3T B) @H

C) fea-feet D) 3rdAET

The chemical properties of the members of the homologous series are-

A) Different B) Similar
C) Various D) Not similar
Answer Key : B Your Response : B (Correct)

Question No. 85

Tt #T HAT F FROT BT
A) faef@sT A B) faerfda C
C) faaifder B1 D) f&erf@= B2

Scurvy is caused by deficiency of-

A) Vitamin A B) Vitamin C
C) Vitamin B1 D) Vitamin B2
Answer Key : B Your Response : A (Wrong)

Question No. 86
WRIH gethe AT & 39RPyd dca FiT @ 2

A) GreRIm B) & & g
C) Tew D) 3iferefister

The elements in the compound potassium sulphate are-

A) Potassium B) All of the options
C) Sulphur D) Oxygen
Answer Key : B Your Response : B (Correct)

Question No. 87

IfE A 3R B 3qT HI0T §, o cos A cos B - sin A sin B #T &I A1 RifIT]



A) 1 B) 0

C) 172 D) -1

If A and B are complementary angles, then find the value of cos A cos B - sin A sin B.

A) 1 B) O
C) 1/2 D) -1
Answer Key : B Your Response : B (Correct)

Question No. 88

$.32000 r TURY T 25% FI aT & 2 ¥ & Thqlg SIS A HifT|

A) %.18000 B) %.15625

C) %.12625 D) %.16000

What is Compound Interest on Rs.32000 at 25% for 2 years?

A) Rs.18000 B) Rs.15625
C) Rs.12625 D) Rs.16000
Answer Key : A Your Response : A (Correct)

Question No. 89

1

1 1 |
(100)7 x {0.001)z - (0.0016)* =7 |7 TG i ToTT

A) B)

0 D)



2/5 3/80

1

1 1
Find the value of (10{]}5 X (0.00 1]§ - {U.OUIE)

A) B)
415 1/5
0) D)
2/5 3/80
Answer Key : A Your Response : A (Correct)

Question No. 90

& fAREd geswr #, 'EDITION' &I 'IDETNOI for@r Sirer §1 36 gestor 7 'MEDICAL'® 53
foram sRem?

A) DIEMCAL B) DEMILAC

C) CADILEM D) LACIMED

In a code, 'EDITION' is written as 'IDETNOI'. How will 'MEDICAL' be written in that code?
A) DIEMCAL B) DEMILAC

C) CADILEM D) LACIMED

Answer Key : B Your Response : B (Correct)



Question No. 91

T S AN W A G fRm i K Sl ik 918 3R g R @ 9 91 3R g9 3k o 3R
AN aF 3o AR aREs iy IR e ST 73

A) T SR A B) T I A

C) IR IR D) & SR Ha

A girl ran from her home towards east direction and took a left turn. Again she turned left and
turned right. How many turns she did towards north and west?

A) Three turns B) One turn
C) Fourturns D) Two turns
Answer Key : A Your Response : A (Correct)

Question No. 92

R e Rost 3 & I A
A) FPILG B) ISLOJ
C) AKDGB D) LTOQM

Find the ODD one out from the given options.

A) FPILG B) ISLOJ
C) AKDGB D) LTOQM
Answer Key : D Your Response : D (Correct)

Question No. 93

S TEJC 7T § QI IORCN § A §9 G@RT 37 W FHieT AT el SMAT A &7

A) T&cATRYUT ol B) Teehg ol
C) =Yl §o D) faega s

Which force is exerted by liquids on objects moving through them?
A) Force of gravity B) Magnetic force

C) Frictional force D) Electrostatic force



Answer Key : C Your Response : C (Correct)

Question No. 94

IRES Fr NOFRF ST §l

A) HerToTH B) fedr

C) &eals D) dffer

is the official language of Jharkhand.

A) Malayalam B) Hindi
C) Kannada D) Tamil
Answer Key : B Your Response : B (Correct)

Question No. 95

TSt 39 B @ 10 e ook HiT 3] el §, a1¢ Fear g 3R 26 HAieT werer §, B & ard
3 & AR 40 FAeT gerar &, R ¢ F3 & AR 5 HAIeX Yoo To Tl Tgaar &l 36 W
¥ Tl fohw fomm # 87

A) 3ca’ gfegH B) &f&or g
C) 3ce’ @ D) afaror ufegH

Raj walks 10 m north from his house, turns left and walks 25 m, again turns left and walks 40
m, then turns right and walks 5 m to reach the school. In which direction is the school from his
house?

A) North west B) South east
C) North east D) South west
Answer Key : D Your Response : D (Correct)

Question No. 96

fAfaf@d Joft 7 equieyd dear ard ffsw

3, 6, 11, (...), 27, 38



A) 16 B) 18

C) 20 D) 22

Find the missing number in the following series.

3,6, 11, (...), 27, 38

A) 16 B) 18
C) 20 D) 22
Answer Key : B Your Response : B (Correct)

Question No. 97

Soft A g |

885, 870, 855, 840,(...)
A) 855 B) 835

C) 815 D) 825

Complete the series.

885, 870, 855, 840,(...)

A) 855 B) 835
C) 815 D) 825
Answer Key : D Your Response : D (Correct)

Question No. 98
faefaf@d & @ Fle rgeereier 3merdr W (dietary fiber) T T 3aTeoT 87

A) sgse (Psyllium) B) seifele
C) Aeelst D) ufFes

N




Which of the following is an example of insoluble dietary fiber?

A) Psyllium B) Inulin
C) Cellulose D) Pectin
Answer Key : C Your Response : C (Correct)

Question No. 99

el o % Al Fhar Fal AR o F yERIT Fg ¥ G IR drell T Fledfais A Y@
I AT FET AT §7?

A) o F F gaRE B) asharl fam
C) wiehel g1 f D) AT 3181

An imaginary straight line passing through the two centres of curvature and the optic centre of
the lens is called-

A) Aperture of the lens B) Radius of curvature
C) Focal length f D) Principal axis
Answer Key : D Your Response : D (Correct)

Question No. 100

ar Jmpfadt & TATT g A od §
1) 3% T FATT &l

2) 3eT% HIT ST 3feqaricish gl

3) 9 HaeTEH &l
A) Fae 2 B) 13k 2 gt
C) haa 3 D) hadl 1

Conditions for two figures to be similar:
1) They are equiangular.



2) Their corresponding sides are proportional.
3) They are congruent.

A) Only 2 B) Both 1 and 2
C) Only 3 D) Only 1

Answer Key : B Your Response : B (Correct)



